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710
dolH g 10,548,808| 9,716,140 832,668
714
2t 117,344 123,365 26,021
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301-12
QIEt2 & 2) 12,500 12,500 0
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(700) AF S H 8 (710) 2 U & NIt (751) 2 Bk2te| d (S &&)
2
= Ol ot [MEAS 0 HlnEH o 5 J| =
18,106 21,400 N 3,294
18,106 21,400 A 3,294
O X201 GlIASIHAAS (TAEIX) SAE 4]
1,250,000& X 12& = 15,000
O X201 MG HAMAS (TAHHIR) SFINLSH(MBE0 A HEH
2,530,000& X 14 = 2,530
O X321 ol &SI H A A EH(LOBAS) S XIE 2=H]
48,0003 X 12& = 576

4144410 4,144,410 0

4,144,410,000& X 13/ H = 4,144,410




(700) Al &4 ] Mg (751)getaeld| cholE )
==
= OflAbOH | RAZOf AFH| HIDZ 2 g I =
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(383 2207|0 st+E 223
4,566,069,0008 X 0.820% 37,442
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3,175,375,000& X 0.820% 26,039
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1,964,817,0002 X 0.820% 16,112
O at=& &3
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13,850,000& X 14! 13,850
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0[O 4=
5,000,000& X 5% X 13 25,000
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Sz 5,000 5,000 0
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B EIE ESN 5,000 5,000 0
O 8l45 N8R HUT T3 wa
100,0008 X 50 = 5,000
800
ollgl Bl 100,000 200,000 100,000
801
ollgl Bl 100,000 200,000 100,000
801
& (Ns]}s]! 100,000 200,000 100,000
O Bl AFLOIAH OilHI b
100,000,000 X 13l = 100,000




